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}/ The Chipko Movement is an example of
(1) Peasant Movement

(2) Workers Movement

(3) Ecological Movement ©

(4) Dalit Movement

4

Match the following individuals with their contributions
List-1 ‘
(Individuals)

(A) Raja Rammohun Roy

@
(B) Fardoonji Murzban (D

(C) Ishwar Chandra Vidyasagar | (IID
(D) Jawaharlal Nehru |

Choose the correct answer from
(1) (A)-®,(®B) -, (©)-(
@ (A)-@,®)-m, (©)- |
(3) (A)-@V), B) - (1), (C) - - (11D)
@) (A)-aV), B)- @, (C)- ), (0)- D

3/ Who among the following is credited with
(1) Leonardo da Vinci 43
(2) Johann Gutenberg e ]

(3) Galileo Galilei

L
(4) Isaac Newton ae Y

RS 4
4/ In South Bihar, the locals have a commé;i; sentm
these migrant groups known as ?
(1) Nakarattars : '
(2) Adivasis }
(3) Dikuse o
__(4) Oraons

Po&#

‘
-
HW
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5/ According to one of the theories of social movemen
is worse off than others around it. What is this theory k
(1) Theory of Relative Deprivations
(2) Theory of Reformative Action
(3) Theory of Redemptive Action
(4) Theory of Resource Mobilization

6. Which of the following characteristics are associated with '

(A) Involvement of women in nation building taskk
(B) Growth of autonomous women’s movement 2= |
(C) All women suffer discrimination at uniform lggel
(D) Change in ideology and organizational sn'ategy
Choose the correct answer from the options given below :
(1) (A), (B) and (D) only

(2) (A),(B)and(C) only

(3) (A), (®B),(C) and (D)

(4) (B),(C)and (D) only

7. Match List-I with List-II :
List-T
(Name of Sociologists)
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(&/ Match the following concepts (List-
List-I
(Concepts)

Fertility Rate
‘Total Fertility Rate '

Infant Mortality Rate

Maternal Mortality Rate

Choose the correct answer from t

(1) (A)- @), (B)- D, (C) - (T, (D)
2 (A)-@,(B)-dm), (C) - (

@) (A)-(D, B) - ), (C) - (N0
(4) (A)- D), (B) - (IV), (C) (D (

9/The statement "The changes brought abg
British Rule, the term subsuming chang

and values" refers to the process of

Fill in the blank with the correct answer froMMHASIMMIONS given below
(1) Sanskritisation ‘ sa
(3) Westernisation e

In Begum Rokeya Sakhawat’s book ““St
men ?..., where they ought to be...we sh
these lines describe ?

(1) Double standard imposed by male ¢

(2) Comparison of work done by men and'

(3) Reversal of roles of Gender » J

b
v

(4) Challenging patriarchy (M ¢
SPACE FOR QUGH WORK
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§/ According to one of the theo
is worse off than others aroun

Choose the correct answer from
(1) (A),(B)and (D) only

@) (A), (B)and (C)only

(3) (A),(B),(C)and (D)

(4) (B),(C)and (D) only

(Name of Sociologists) |

(A) Nicholas Dirks B v ; Bshiol
(B) Louis Dumont _ [HRTo-Hicrarch
(C) Patricia Uberoi DS ‘

(D) Andre Beteille

Choose the correct answer from the!
(1) (A)- (), (B) - (1), (C) - (IV), (D) =T}
2) (A)-(D),(B)- ), (C)-(IV), (D) - () &
(3) (A)- (1), (B) - (IT), (C) - (1), (D) - (V) . A
@) (A)-(1V), (B) - (D), (C) - (1), (D) - (1)

SPACE FOR ROUGH
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(4)
< Match th .
(8/ Lei: i;oilowmg concepts (List-I) with their appropriate description (List-IT) :
St-
List-II
o (Definition)
(A) Fertility Rate (I
(1)

(B) Total Fertility Rate

(C) Infant Mortality Rate

(D) Maternal Mortality Rate (v

Choose the correct answer from the options giv S
(1) (A)-D, ®B) - 1D, (C)
(2) (A)-@, B)-(ID), (C)

!/ The statement "The changes brought about in I
British Rule, the term subsuming changes occur
and values" refers to the process of
Fill in the blank with the correct answer from the
(1) Sanskritisation 1
(3) Westernisation e

In Begum Rokeya Sakhawat’s book “‘Sultana’s

10
/ men ?..., where they ought to be...we shut our 1
these lines describe ?

(1) Double standard imposed by male domina
(2) Comparison of work done by men and wc
- LR o 1‘531 of?'Ol_ﬂS.:Qﬁ» Sander »
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13 For which of the folloy
(B) Opportunity for ear

2) (B),(C)and (D) nniys
(3) (A),(B),(C)and (D) g
(4 (A), (C)and (D) only

12.  Which of the following factors was no
(1) Socio-Cultural
(3) Political :

13, Which of the following factors' was no
/ India ?

(1) Development of heavy an¢

(2) Expansion of the public se

(3) Presence of a large cooper

(4) Role of coastal cities for t

14.  In which of the following States i9Birhol
(1) Assam
(3) Rajasthan

}./The term ““prejudice’’ refers to

Fill in the blank with the correct
(l) Commumty ldennty

A
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(02 326
Read the given passage carefully and answer the next five questions. i

.~ Rea
In many ways it was a major political change, namely, the collapse of the erstwhile socialist world that hasteneq Vo
globalisation and also gave a specific economic and political approach to the icies that underpj .

globalisation. These changes are often termed as neqgliberal economiCMECASHES:
concrete steps the liberalisation policy took in India®®Broadly, thesi
enm}gwhich believes that a freerp_cigﬁn to market f@ges will b
of both State regulation and State subsidies. The ex@ng process of

political vision as much as an economic vision.

- Bl ool
onomic poliCic Ndt Undaerpin
R OTTRNL S Y A1 7

.........

17 What does the term ‘liberalisation policy’ refer tasin the given passage /¢
(1) Regulation of State subsidies ® %
(2) Regulation of market forces
(3) Regulation of social welfarism
(4) De-regulation of market forces
/w./ What is the central political 'vision reflected in the €CoNnomic |
(1) Free enterprise » ; :

(2) State subsidies b - ]
(3) Centralised power ; _ °g
(4) State regulation i 33 $
1?./What is the economic measure that acgtjﬁ;pﬁﬁi@thé,:
Globalisation ? ! O

(1) Conservative measures YR g

(2) Welfare measures
(3) Neo-liberal measures »
, (4) Protectionist measures
20,/ What major political change is highlighted in the passage %

(1) Collapse of Welfare State
(2) Collapse of Capitalist State
(3) Collapse of Socialist State #
(4) Collapse of trade protectionism

o &#

21. According to the passage, what is the political vi?&n behit

// (1) It supports State regulation
(3

(2) Itis critical of State regulation
(3) Itadv Sociali e,
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Read the given passage carefully an

My grandfather, like most Nagas who ha

was the only way to get ahead in
—_———

British administration and missionarie

far as Shimla. My mother was encou

an education in these new times,

Vijaylaxmi Pandit, who represented India

himself through the local mission S

able to, chose to get educated in En

where tribes that live no more than

/" Which of the following
North-East ?
(1) Urbanization
(3) Western education®

7 According to the passage, whi
(1) Politics

:

XQ) Cultural change
\" Name the process through which the

improved status.
(1) Sanskritization
(3) Assimilation

5. 0 among the following representet
(1) Jawaharlal Nehru
(3) British Missionaries
Mhich of the following is the reasor
tribes ?
(1) Use of English language ©
(2) Missionary help
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27, Which of the following Sociologists argued that Sociology helps in und
/ between “personal troubles™ and “social issues” ?
(1) Durkheim
(2) C.W.Mills e
(3) Bourdieu
(4) Weber

28, Which programme of the Government of India directly targ
/ (1) Widow Pension
(2) Pre-Natal Diagnostic Techniques (Regulation am
(3) Beti Bachao Beti Padhao
{4) Sukanya Samriddhi Yojana
29. Which of the following statements is true about Colomniz
(1) Parochialism gave birth to Colonialism in India
(2) Colonialism gave birth " ational dia
(3) Urban poor were the m:
(4) Capitalist economic ch

30. Match the following terms (Li§7__,; g

/‘ \ List-1 A 4
(Terms)
\ (A) Varasystem 6))
\ (B) Scheduled Castes (11)
(C) Sanskritisation (1)
(D) Resistance Tribes (IV) ,

Choose the correct answer from the options given b
(1) (A)-(D), (B) - (II), (C) - (I1I), (D) - (IV)
(2) (A)- (1), (B) - (I1T), (C) - (1), (D) - (IV)
() (A)-(1V), (B) - (I1), (C) - (1), (D) - (I1T)
() (A)- (), (B) - (IV), (C) - (1), (D) - (11I)

SPACE FOR ROUGH WORK
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31,
economic function ? e
(A) Layout of the market symbolises the hierd
(B) Few goods are free in the market for gro v .
(C) Different social groups are located according to their position
market system.
(D) Interactions between tribals and nontrib
Choose the correct answer from the options given below
(1) (A), (B)and (D) only
(2) (A)and (C)only
3) (A), (B),(C)and (D) =
(4) (A),(C)and(D)only o

32ﬁhich of the following principles are app! ied)
(A) Birth

(B) Marriage

(C) Food Sharing

(D) Occupation

Choose the correct answer from the options giy :
(1) (A),(B) and (D) only

(2) (A),(B)and (C) only

(3) (A),(B),(C)and (D) ©

(4) (B),(C)and (D) only

33. How has national development impacted ribe
(A) Tribal areas located in mineral rich ag

high price for development.
(B) Large dams, factories and mmes were
(C) Tnbals were dispossessed of their l
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34. Which of the following statements are true about stetgotypes ?
(A) Stereotypes are often applied to ethnic and racﬁ groups.
(B) Stereotypes fix whole groups into single entitg(g
(C) Stereotypes refuse to recognise the variation a‘%r?ss it
(D) Stereotypes are partly colonial constructs. &3
Choose the correct answer from the options given b%fo V
(1) (A), (B)and (D) only
) (A), (B)and (C) only 4
(3) (A), (B),(C)and (D) * i
(4) (B),(C)and (D) only

35, In every society, some individuals have a greater share OFW
prestige etc., — than others. These social resources@n &
them from the following. o3
(A) Economic capital -~ o
(B) Cultural capital - %

(C) Social capital s

(D) Educational capital

Choose the correct answer from he '33' 1S 0
(1) (A),(B)and(D) only.*

(3) (A),(C)and (D) only

36, In which year did the first Backward Classes Commis§
(1) 1956 @
(3). 1950 1

37 ich of the following arguments are correct abouf
(A) Adivasis were always the oppressed group, asy
(B) Tribes were absorbed in Hindu society througl¥
(C) Tribes occupied a special trade niche, trading
(D) Adivasis often exercised dominance over the

Cho
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Mhat was the opinidﬁ
Constitution ?
(1) He believed that local eh
(2) He thought that local self-
(3) He believed that local se f
(4) He believed that local sel

Which of the following is nof an
(1) Membership of family

(2) Membership of religious g
(3) Membership of a profes

b“’/I.M/ Membership of caste group

(1) Article 21
(3) Article 30

41. Which of the following statemen
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43.  Which of the following are true about Gram Sabh |
(A) The Gram Sabha collects central taxes from th
(B) The Gram Sabha consists of the entire body of
(C) The Gram Sabha is the general body that cle
(D) The Gram Sabha participates in village- -level ¢

Choose the correct answer from the options given bé

(1) (A), (B)and (D) only # G
(2) (A),(B)and (C)only * Yol
(3) (A),(B), (C)and (D) !

(4) (B),(C)and (D)only +

How did the Supreme Court enhance Fundamental B
Article 21 ? |
(1) By restricting individual hberty

(2) By narrowmg the scope o) Arhcle 20

(4) By expanding the scope!

45. Who amongst the following S
be democratic in their structur
(1) Tiplut Nongbri ®
(3) Verrier Elwin
46. Match List-I with List-IL

List-1
(Dommant Caste)

Choose the correct ansy er fro
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47.  Which of the following festivals are related t

(A) Bihu -

(B) Baisakhi *

(C) Holi

(D) Pongal - ol
Choose the correct answer from the options given by
(1) (A), (B) and (D) only 3
(3) (A), (B),(C)and (D)

Which of the following are the indicators of gld ; s
(A) Contract farming .
(B) Increased dependence of farmers on fertilis
(C) Promotion of indigenous knowledge for 2

(D) Entry of multinationals into agricultural
Choose the correct answer from the options given t

(1) (A), (B)and (C) only
3) (A), (B),(C)and (D)

Under which of the following systems is
divided amongst the workers ?

(1) Binary System
(3) Flexi System

50. Match the concepts (List-I) with their:
- List-I




